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Convert these equations from vertex to Standard form.

	1.  
[image: image44.png]




	2. 
[image: image2.emf]
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Convert these equations from Standard form to vertex form.

	3. 
[image: image3.emf]
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	4. 
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	6. 
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List the vertex and axis of symmetry for each of the equations above.

	
	Vertex
	Axis of symmetry
	
	
	Vertex
	Axis of symmetry

	7.
	
	
	
	8.
	
	

	9.
	
	
	
	10.
	
	


Do these parabolas face up or down?

11. 
[image: image7.emf]
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   12. 
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Write equations for these parabolas.

	13.
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Graph these parabolas.

	15. 
[image: image11.emf]
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	16. 
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y + 3 = −2(x − 5)2
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Michelle is on the upper viewing platform of the Eiffel Tower in Paris.  This platform, 279 meters above the ground, is the highest spot accessible to the public.  She is eating an apple, but she accidentally drops it over the railing.
[image: image1.emf]
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17.  Write an equation describing the relationship between the apple’s height 

      above the ground (h) at time (t).

      Start by filling in this information:



[image: image16.emf]


v0










v

0
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[image: image17.emf]


h0










h

0

= ______________
g = ______________

Equation:_____________________________________________________

18.  What is the height of the apple after it has been falling for 2 seconds?

19.  How long does it take for the apple to fall to the ground?

20.  After how much time will the apple be approximately 50 m off the ground?

21. Evaluate the following:

	a) 
[image: image18.emf]
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	d) 
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[image: image22.emf]


3−10










3

-

10


	


22. Solve the following:

	a) 
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	e) 
[image: image27.emf]


x − 9( )2 = 0










x

-

9

( )

2

=

0


	f) 
[image: image28.emf]


r2 − 28 = −3










r

2

-

28

=-

3





23. Elizabeth is having a big rectangular garden installed in her back yard that will measure 50 feet by 10 feet. She will also have a walkway of x feet installed all around it.

a) Draw a picture and write an expression for the total area of the garden and walkway. Expand and simplify your expression completely. Include units!
b) Write an expression that represents the area of just the walkway itself.
c)  Use your expression in part a) to find the total area of the garden and walkway if the walkway

     (x) is 3 feet.

Answers:

	1. 
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2. 
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3. 
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4. 
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5. 
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y +17 = 2(x − 2)2
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6. 
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y − 49 = −3(x − 4)2
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7.  (-10, -130); x = -10

8.  (4, -25); x = 4

9.  (2, -17); x = 2

10.  (4, 49); x = 4

11.  down

12.  up

13.  
[image: image35.emf]


y+ 2 = 3(x −1)2










y

+

2

=

3(

x

-

1)

2


14.  
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15.



	17.  0, 279, 9.8

      
[image: image37.emf]


h = −4.9t2 + 279
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18.  h = 259.4 meters

19.  7.5 seconds

20.  6.8 seconds

21. a) -4      b) -11

      c) 5       d) -18

      e) 7

22. a) b = -8 or b = -16

      b)
[image: image38.emf]


x = 17
3
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 or x = -1

      c) x = 0 or x = 8
      d) 
[image: image39.emf]


d = 52  or d = − 52
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      e) x = 9
      f) r = 5 or r = -5

23. a)  Total Area = (10+2x)(50+2x)=
[image: image40.emf]
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b) Area of Walkway= 
[image: image41.emf]
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c) 896ft2
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